ALFA ROMEO CHALLENGE 2020-ABARTH CHALLENGE 2020

ETCC2020 Vol.3 Okayama

Race-Class

95 ANBEIELE (RBO+RBEQ)

| & KYUSYU Rd.1

2020. 03. 22 BILERY—F v ~ 3.703km
SS300
B #FE Ry RS A 1\— ETIL FH OB QB #EE DIE QIE &&HIBASR
1 3 ¢ e BEX BMW M3 CSL Gluck M3SJ4 6+6 = 12 1x08 +1=1.8
2 9 ¢ h)ll H— BMW E46 M3 Gluck NA7 M3 6+6 = 12 2x08 +2=3.6
ETCC500
B #FE R RS A 1\— ETIL FH OB QB #EE DIE QIE  &&HIBRSR
1 73 B tre gz BMW M4 6+6 = 12 2x08 +1=2.6
2 6 B = = BMW Drive. M?2?? 6+6 = 12 1x08 +2=28
3 33 B wH BMW M4 Studie M4 6+6 = 12 3x08 +3=54
4 7 B AN # BMW M4 ROCO M4 6+6 = 12 4x08 +4=72
AB150-0
B #FE Ry RS A 1\— ETIL FH OB QB #EE DIE QIF &&HIBRSR
1 405 8 WE Ak ABARTH 500 71" HF500 6+6 = 12 1x08 +1=1.8
2 51 8 BE R ABARTH 500 G-TECH&FORZA 6+6 = 12 2x08 +2=3.6
3 41 8 B 0k ABARTH 500 7 9N WY TN Wb 6+6 = 12 3x08 +3=54
SS200
g #EE RH FSA /18— ETIL BHE OF QB #EAE DIE Qlg  &FtIEkS
1 1 E whE = Lotus IY-t"S Ruby ELISE S 6+6 = 12 1x08 +1=1.8
2 35 E HiE EX Lotus IY-t'S 138 6+2 = 8 2x08 +2=36
AR150-1
gz #EFE RH FSA /13— ETIL BHE OF QB #EAE DI Qlg  &FtIEkS
1 76 2 WF = 147GTA-sele CLUBPAZZO147GTA 6+6 = 12 2x08 +1=2.6
2 16 2 BEH iz 1476TA-sele 74-1-4-t" 21476TA 6+2 = 8 1x08 +2=28
AR150-2
Bz #EE RH FSA /13— ETIL BHE OF QB #EAE DIE QI &FtIEkS
1 4 3 I —& 6TV SFIDAZ{E %" ¥F36TV 6+6 = 12 1x0.8 +1=1.8
- 37 3 B % 156V6 DIVERTI 156 —+- = - - - -
AB150-2
gz #EFE RH FSA /13— ETIL BHE OF QB #EAE DIE Qlg  &FtIEkS
1 26 A A0 @ 595 A F4Yt-% 595 6+6 = 12 1x08 +1=18
2 312 A a0 % ABARTH 500 500TCR 6+6 = 12 2x08 +2=36
3 21 A hE EA ABARTH 595 RIEES 5+- = 5 3x0.8 - -
HTA200
B #FE R RS A 1\— ETIL FH OB QB #EE DIE QIE &&HIBASR
1 21 5 IR ER 75TS 1555 6+6 = 12 2x08 +1=2.6
2 47 5 JIgE S 75TS 75TS-R 6+- = 6 1x08 +- -
AR-MiTo
B #FE R RS A 1"\— ETI FH OB QB #EE DIE QIE &&HIBRSR
1 17 4 wWH E% Mito tb sports SpR3 M-t A% -y 6+6 = 12 1x08 +1=1.8
2 50 4 A B MiTo K-ENG#MITO 5+5 = 10 2x08 +2=3.6
R300
B #FE R RS A 1\— ETIL FH OB QB #EAE DIE QIE &&HIBASR
1 20 F FI A Peugeot 306516 -9 WA -Y306S16 6+6 = 12 1x08 +1=1.8
H200
Bz #EE RH FSA /18— ETIL BHE OF QB #EAE DIE QI &FtIEkS
1 29 7 &N K= 2000GTV HIE AY7+222000GTV 6+6 = 12 1x08 +1=1.8
2 9 7 mIg AE 13006TJ 5515 5+5 = 10 2x08 +2=36
- 99 7 HE Bz 1750GTV HIEDAF1750GTV —+- = - - - -
AB124
B #FE Ry RS A 1\— ETIL FH OB QB #EE DIE QIE  &&HIBRSR
1 888 9 R OU ABARTH 12420° 45"~ rFry 5+5 = 10 1x08 +1=1.8
H-1
Bz #EE RH FSA /13— ETIL BHE OF QB #EAE DIE QI &FtIEkS
1 83 6 N OEZ Ford escort tc DN =RV N SFB v A -+5 = 5 - +1 -
VWA-C-0
B #FE R RS A 1\— ETI FH OB QB #EE DIE QIE &&HIBRSR
- 12 D [ITE 3 Audi B7 RS4 ©ES pARSS 0+- = 0 - - -
MR200
Bz #EE RH FSA /13— ETIL BHE OF QB #EAE DIE QI &FtIEkS
- 67 D 5@ R SPRIJE DIN =" =y%  SpR/IN' -4 Y-va-K' b-Yav -+- = - - - -



	rfa

